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iEERPSEN 60,537,691 60,531,942 5,749
=2 30,000 30,000 0
[ 4,836,250 4,840,750 4,500
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02 QIHHAAIHE X 126,000 135,000 A9,000
O WEE=224AH 2.0
A& 126,000,000 126,000 135,000 29,000
(= 49,500 54,000 A4,500
Al 76,500 81,000 24,500
HEZNEC 20 35,609,460 35,609,460 0
(= 3,200,000 3,200,000 0
Al 31,459,460 31,459,460 0
CH 950,000 950,000 0
Oleh™e D18l Y MEIAIY o3 35,609,460 35,609,460 0
[ 3,200,000 3,200,000 0
Al 31,459,460 31,459,460 0
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(= 3,200,000 3,200,000 0
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02 22/l 500,000 0 500,000
0 SL2IE S XM (H2HA)
500,000,000 * 14! 500,000 0 500,000
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